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First Aorist Verbs

You will be able to—

1. recognize and write the first aorist paradigm,
2. write the first aorist stems of the verbs learned in previous lessons,
3. translate the first aorist indicative form,
4. gain more practice in translating and working with Greek,
5. master ten more high-frequency vocabulary words, and
6. memorize Mat. 6:11 in Greek.
Introduction

In English we have two ways of forming the past tense:

1. Add the “ed” suffix to the word:
I laugh at Elliott’s jokes (present).
I laughed at Elliott’s jokes (past).
2. Change the form of the verb:
Zach runs down the court (present).
Zach ran down the court (past).

Comparison with Greek

Like the English, Greek forms the Aorist in two ways. The first aorist is formed off the
present stem, with an augment and a suffixed oa.. The second aorist is built from a
different aorist stem that adds endings identical to the imperfect.

The aorist is used for when the action is viewed as a whole and complete (e.g., “he
loosed”). The aorist is the most frequent tense form and is used as a background tense by
writers as opposed to the present tense form which is used to foreground material. The
imperfect is used to portray action in progress or “dwelled upon” (aspect), and can be
used of action that is continuous/durative/iterative (Aktionsart). The actual time or tense
of the action is triggered more by temporal pointers like adverbs, prepositional phrases
and conjunctions than the aorist tense form itself. The aorist can be used for actions
which are past, present, omnitemporal or timeless. Thus the aorist is extremely
flexible.Both the first and second aorists are usually translated as a simple past (e.g., “he
came”). However, they may sometimes be translated by the English perfect (e.g., “has
spoken” or “he speaks”). The imperfect is used to portary action as developing, unfolding
or “dwelled upon” (e.g. “he was loosing”).
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First Aorist Form

The first aorist is built from the first aorist verb stem. It is preceded by an e augment
and followed by secondary endings like the imperfect. The future was constructed by
inserting a o between the stem and ending. So the first aorist is formed by inserting a oca
between the stem and secondary pronominal endings.

Augment Verbstem Tense formative Secondary  You loosed
endings

e+ AU+ oo+ = é\voag

Aug Stem Tense connective  Ending

Aorist Active Indicative of \Vw

Singular Plural
1. éwvoa I loosed éxboapey We loosed
2. éwoag You loosed eNvoaTE You loosed
3. é\voe(v) He/she/itloosed  é\voav They loosed

Note: The -, 0, €, pev, Te, v endings are the same as the imperfects except that in the
first person singular the v is dropped.

Aorist Middle Indicative of \Vw

Singular Plural
1. éxvodpnv I loosed é\vodpeBa  We loosed
(for myself) (for ourselves)
2. éxtow You loosed éNboaoBe  You loosed
(for yourself) (for yourselves)
3. éxvoato  He/she/it loosed é\boavto  They loosed
(for himself/herself/itself) (for themselves)

Note: The pnv, w, To, neba, oB¢, vTO endings are the same as the imperfects except
in the second person singular, where the ov shifts to w.

Augments

By now you know how the augment is added (see chaps. 12 and 14). Sorry for the
repetition, but just to refresh your memory. The augment is added in four ways:

1. before consonants it is “e.”

2. before vowels the augment contracts with the vowel according to the following
rules:
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Vowels Diphthongs
eta=nm etar=n
ete=n etel=n
etn=n etor=w
€+ 1=1 etav=nv
eto=w etev=mu
etv=v

Four patterns:

(1) a and € lengthen to .

(2) o lengthens to w.

(3) 1ending becomes a diphthong subscript.
(4) v ending of a diphthong stays strong.

3. Compound verbs with prepositions ending in a consonant: Insert the augment
between the prepositional prefix and the verb stem. év80w becomes evéduoa (I
clothed)

4. Compound verbs with prepositions ending in a vowel: The final vowel of the
preposition is dropped and the € augment is inserted in its place. dmoldw
becomes dné voa (I released).

Ending Transformations—Sigma Addition

The sigma ending is added in basically the same way as the sigma was added for future
tense verbs with the similar transformations (see chap. 10).

Velars: (k, y, or y) + 0 becomes &.
318dokw + oo = é3idata (I taught)

Labials: (w, B, or () + o becomes .
BAénw + oa = ERAea (I saw)

Dentals: (1, 3, or 8) + o drops the dental.
neiBw + oo = éneroa (I persuaded)

With liquids (X and p) and nasals (n and v), “lemoners,” often the sigma is dropped
and the preceding vowel in the stem is changed.

’ b4
LEVW + OO = EPLEVA
9 ’ 9 ’
OATMOOTEANW + OO0 = ALTTET TELANQ

If the stem ends in a sibilant (o, €), the sibilant is dropped and the sigma of the ending
is kept.

ocWYlw + oo = éowoa
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These transformations are not always predictable. Thus it is necessary to be able to
recognize the aorist for each verb.

Aorist Stems of Verbs

Here is a list of first aorist active indicative forms of verbs already learned.

Present First Aorist

aKobw fiKovoa I heard
dnooTéNw  dméoTelna [ sent
BAémw EBreYa I saw
ypdhw Eypava [ wrote
318d.0Kw édi8aca I taught
Mo Tebw éniotevoa I believed
Bé\w N T I wished
pnévw Euewa I remained
Kpivw Ekpva I judged
oWwlw éowoa I saved

Chant: First Aorist

v
EAVOQ (I loosed)
- =S, -6

(-- pronounce noise sound “aahh”)

-ULEV, -TE, -V

é)\UO'duT]V (I loosed myself)

-unv, -w,-To, -ueba, -0 B¢, -V TO

Translation Examples
kai Hkovoav pwrfig peyding ék Tod ovpavod.
And they heard a loud voice from heaven (Rev. 11:12).

éyw ndvToTe €3i8ata év cuvaywyt kai év 1@ iepd.
I always taught in synagogue and in the temple (Jn. 18:20).

“Eypao Opiv év THi émioTorT.
I wrote to you in the letter (1 Cor. 5:9).

94
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Vocabulary

dx\\og, -1, -0 other (155)

&pTog, -ov, 6 bread (97)

d€l it is necessary (101)
éEouoia, -0, 1M authority (100)
ét1epog, -a, -ov different (98)

yet, still (93)
o(pBaruds, -00, 0  eye (100)
TéKVOV, -0V, TO child (99)
T6m0S, -0V, O place (94)
bag, pwTdg, T6 light (73)

Review

Mat. 6:9:  TIdTep U@V 6 év Toig oVPAVOIg’
aylao8niTw 10 dvopd oov”

Mat. 6:10  éxBétw 1) Baotheia oov*
YEVNONTW TO BEANUA o0V,
Ws év 0vpav@ Kai éni yfig®

Memory Verse: Mat. 6:11

TOV dptov  Mu@v TOV én1000 10V
the bread our the daily portion

80  mMuiv ofjuepov’
Give us today;



